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No. The Candidate
Time : 2 Hrs. Full Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

BEHOH earaned Eroxnessd B0 OMR warw 5E50s" asgads Soestem e 3890,

SECTION—I : MATHEMATICS

1. Which of the following rational numbers has terminating decimal expansion?

55 1808 w5300 BogeS’ B woshy Fro¥ DBeatn SOR &oB?

7 11
N Z0 (2 35

5 2
@ 57 4 15

2. Which of the following is not an irrational number?

o 808 7S B5BaD Hog)y B 8?2

1 J2 @ 3
@ Ja (4 5

3. If p and g are two positive integers such that p= a°b? and g = ab®, where a and b are prime
numbers, then HCF (p, g) is

P 598050 G Bot $3°8 Doggen p = a>h? 8w g = ab®, a HBAIH b e [HEeD JoPgen. eSS

Raegr. (p, g =
(1) ab 2 ab?
3 &b (4)  a®b?
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POLYCET OLD QUESTION PAPER

4. The sum of exponents of the prime factors in the prime factorization of 196 is
196 o?méb BTeS se8erol DeSedStD sormrosee B3¢0
1 1 (@)
@ 6 (4)
5. According to the fundamental theorem of arithmetic, if p (a prime number) divides a2, where
a is +ve integer, then

90513 |ToRdY ?)Cé"oe‘_‘éo (5780, p &8 (S50 Hogdg o800 a &8 65 FY Hog)g WOSHED a’d p X)%gf’qorv’

eRa
(1)  adivides p (2)  a? divides p

p & a ore grRsyes P al Do R8s
(3) pdivides a (4) None of these

adp :)-‘%ERXJ\OTT" gR308 29D 5

6. If log%+1og£=log(a+b), then
a

log2+log-ll= log(a + b) es0203
b a
(1) a+b=1 a-b=1

3 a=b

B

None of these

AR

=

7. Which of the following collections is not a set?
&8 1808 SH0TAIreS I8 B S ?
(1) The collection of all boys in a class
2.5 BEHBE’D 90658 210en8 BRI
(2)  The collection of all even integers
@X)& 58 @(’g :603)23@ Sdomroho
(3) The collection of ten most talented writers of India
OSBRI 0 (HBPHoBH 10 HH08 BB0NBe PHTo
(4) None of the above
8 5%
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POLYCET OLD QUESTION PAPER

8. Match the following :
1BOB TP 2385000

{a) Null set ()  {x:xis a real number}
g DS {1 X 03B 88 TR Do)
{b) Singleton set (i) {x: xis a whole number and x < 0}
A Hore¥ S {21 x IB 2.8 Frossn HBa x < O}
{c) Infinite set (iti) {x: xis an even prime number}
95088 D {1 x 0058 8.8 B8 15D Sogg)
(1) (a)=(1), (b}—(77), (c}—(i7}) (@) (a)—(iT), (D7), (c}—(i)
B)  (a)=(i), (b}—(i), (c}—(iri) (4)  (a)—(w), (b}—(i57), (c}—(i)

9. If A and Bare disjoint sets, then
A 5800 B &3 Dot 5088,
(1) AnB=A (2 AnB=B
8 AnB={0} 4 AnB=9¢

10. In a class of 60 students, 45 students like music, 50 students like dance and S students
like neither. Then, the number of students in the class who like both music and dance is

60 08 Dergien Ko &8 SEHASE 45 208 Do SoRgo 08 age, SO o8 Do Toexg0 9063
2o 080 5 H008 DesHeH S Bodoed W Ao . eond Sofo HBAHL Texs0 Bodo3 AFss
SSHBSD Degye Sogs

(1) 35 (2) 40

3 50 (4) 55

11. If A and Bare two sets such that AuB=An B, then which of the following is correct?
A 800 B o otk 50ées AU B=AN B edhseeyr Ho8 & 808 373 56638 282

1) A=¢ @ B=¢
(3) A=B (4) None of these
D o

12. Which of the following is not a polynomial?
&5 1808 IS DB TVIB &2

(1) 3x?-2y3x+5 (2)  9x®—dx++2
3 . . 1
3) Ex +6x —EX—S (4) x+%
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POLYCET OLD QUESTION PAPER

13. The degree of the polynomial .(x+ N —x+x*-1) is

(D" = x4 x* —1) o3 25038 oY) 5850

1 2 @ 3
@ 4 4 S
14. If the sum of the zeroes of the quadratic polynomial kx® +2x+ 3k is equal to the product of

its zeroes, then the value of k is
Jox® +0x + 3k 93 5E TOIE B g Igo ey 0erdd é:{m:é?_aé, k Densd
L, 2 5 2

n -3 @ 3

g oL o L

(3) 3 @ 3

15. Number of zeroes of the polynomial in the graph shown is
(TS SI5006S 2TVBE B L5 5o
Y
A
G >
x’ o X
s
1 o @ 1
@ 2 4 3
SPACE FOR ROUGH WORK /ﬁ)é_,zo’)ﬁ)g ﬁsésﬁ»
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POLYCET OLD QUESTION PAPER

16. The value of k for which the pair of linear equations kx—y =2 and 6x -2y =3 has a unique
solution, is

Jox—y =2 58050 6x -2y = 3 BDah $0ESeTe wSH DL D Dok k dend
1) k=3 2) k=3
@ k=0 (49 k=0

17. The pair of equations y=0 and y=-7 has
y=0 080k y=-7 3S0ESero 385

(1) unique solution (2) two solutions

D38 g5 908008 Bokd HBIOD HOEPON
(3) infinitely many solutions (4) no solution

€9:308% GO DOLTON AR DO

18. If the sum of the ages of a father and his son is 65 years and twice the difference of their ages
is 50 years, then the age of the father in years is

28 ol S5oB0 S HITEH DAY FoPo 65 JosSyoren HBoHo T8 HADLRY® P8 Bglod SO
éobé‘ac"oé‘o é;iﬁb?_aé o cBJoéG éoj.)é.b

(1) 45 (2) 40
@ 50 4) 55

19. The 15th term of an AP -10, -5, 0, 5, ... is
-10,-5, 0, 5, ... ©05E&S® 155 50

(1) S5 (2) 60
(3) 65 (4) None of these
20D 5

20. If the first and fourth terms of a GP are 1 and 27 respectively, then the common ratio is

28 ID2EGS ™ D0l HBADL T Heen HHTTT 1 HBAM 27 eand, & Be Y Sy AN

SPACE FOR ROUGH WORK /-¢:508 @sf‘é;ﬁ»
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POLYCET OLD QUESTION PAPER

—c)

21. If a, b, care in AP and x, y, z are in GP, then the value of.x(b y(c‘“]z‘“'b' is
a, b, c e ©o¥RES’ HB0IW X, Y, z e HESS’ Do XY Z g Deos
1 o @ 1
@) xyz (4 x%
22. The distance of the point P(2, 3) from the x-axis is (in units)
P(2, 3) Dot x-e950 508 Ko &80 (0hes®)

23. The quadrant in which the point divides the line segment joining the points (7, —6) and (3, 4)
in the ratio 1:2 internally lies, is

(7, —6) S8 (3, 4) DothrHed e 8%)"’%)0(3"3)& 1.8 .‘059@66 eosSorr DefRod Hotdd) Hod oo

(1) 1stquadrant (2) 2nd quadrant
B005€3 50 Bocssd ares0

(3) 3rd quadrant (4)  4th quadrant
SOTES S0 T°Q: S0

24. The triangle formed by the vertices A(—4,0), B(4,0) and 'C(O, 3) is

A(-4,0), B(4,0) 28ao C(0, 3) %g;em Ko @2heso

(1) isosceles triangle (2) equilateral triangle
AV LA JeTed |BghHeso

(3) scalene triangle (4) right-angled triangle
i (Beheso o028’ |Bgheso

25. If A(-1,2), B(2,-1) and C(3,1) are three vertices of a parallelogram, then the fourth vertex is
A(-1,2), B(2,-1) 80 C(3,1) Dothden as D:ieosy ééoé)?heso G308y e %’g;o.) 90008, &d

TS BBBEW
o
(1) D20 (2) DO, 4)
3) D(-2,06) 4 D(6,2)
SPACE FOR ROUGH WORK /{:)é_‘g:)ﬁ)% ﬁs:‘é;ﬁ»
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POLYCET OLD QUESTION PAPER

26. If the slope of the line joining the two points P(2,5) and Q(x, 3) is 2, then the value of x is
P(2,5) 800 Q(x, 3) Hotipes Sev:d g ook, e 2 eoowd, x Deod
(1) 1 2 2
@ -2 4 -1

27. If the points P(2,3), Q(5, k) and R(6,7) are collinear, then the value of k is
P(2,3), Q(5, k) 58010 R(6,7) Dothden $8DoirS88, k Deos

1
(1) 4 @ 7
3 3 4 6
@ -3 (4)
\ ’ AD 3
28. In the given AABC, if DE || BC, 5 5 and AC =5-6 cm, then AE =
AD 3
2dyd AABC & DE| BC, o 28010 AC =5-6 20.50.00 @008, AE =
A
D E
B > C
(1) 21lcm (2) 2cm
2'1 20.50. 2 20.20.
(38) 22cm (4 42cm
22 20.2. 42 20.20.

29. If the lengths of the diagonals of a rhombus are 30 cm and 40 cm, then the side of the rhombus
is

28 3 SedByeo (Tro2) @Bg) e Feciden 30 20.20. 508050 40 20.20.e0 90208, R 2o FED

(1) 15cm (2) 20cm
15 o.5o. 20 o.5.

(3) 25cm (4) 30cm
25 Po:d; 30 2o.2.

SPACE FOR ROUGH WORK /-¢:508 @sf‘é;ﬁ»
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POLYCET OLD QUESTION PAPER

30. In the given figure, O is the centre of the circle and LAOC =110° then LADC is equal to

2P D008, M Boo O BAL LAOC =110° ®owd, LADC =

D

)

>
AC

B
(1) 110° 2) 55°
@ 70° 4 125°

31. Ifa point Pis 17 cm from the center of a circle of radius 8 cm, then the length of the tangent
drawn to the circle from the point Pis

8 20.20.0 Tgrgo 1o 9% Soo Wod P & HotdD 17 20.0.0 (608" HiHeod, & Dot Hod
2908 Aot $y5Be 97D

A
8 cm
Poe Y
17 cm a

(1) 10cm (2) 12cm
10 o.20. 12 2o.2o.

(3) 15cm 4 1l4cm
15 o.2v. 14 »o.o.
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32. [f cos A= g, then the value of tan A is

cos A = 4 ©@oNd, tan A Jewd

.3 3
0 3 @ 5
5 A PR
@ 3 I
33. The value of ——0- ">, Lt
. e value of = o =e is equal to
S —
sin 30° + cos 60° s
1
m 1 @ 7
3 = o
@ 3 @ 3
34. The value of tan2° tan4° tan6°®... tan88° is
tan?2° tan4° tan6°... tan88° 03.1)562)03;‘)
(1) © 2 1
@ 2 (4) Not defined
K)éog{ﬁo-:ﬁa)cécsa
35. If tan® + cot =5, then tan®0 +cot®6 =7
tan® +cotf =5 ®ond, tan®0 +cot’>g =7
(1) 27 2 25
(3) 24 (4) 23
. a®> b?
36. If x=asin® and y=>btand, then the value of ?—? is
aQ 2
X =asin® 5H8a y=bhtand eand, & F Densd
(1) 1 2 2
3 -1 (4) None of these
/D)

SPACE FOR ROUGH WORK /-)¢:508 @5&5;5))
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37. If secHb+tanb = x, then tand =

secB+tand = x ©00d, tan =

x?+1 x? =1
m = @ =
y x?+1 x x? -1
(3) X (4) o
- sin®
" 1+cos®
i 1+cos® 5 1-cos®
(1) sin® (2) cos 9
" 1-cos® " 1+sin®
) sin® ) cos 6

39. If the ratio of the length of a pole and its shadow is 1:4/3, then the angle of elevation of the
sun is

2.8 R0250 0% D8y S8 T Ve DtEde IS 1 /3 0008 53659 88emen GRS D8y &:5c8%00
(1) 30° (2) 45°
3 60° 4 90°

40. If two towers of heights h; and h; subtend angles of 45° and 30° respectively at the midpoint
of the line joining their feet, then the ratio of h; : A, is
hy 558050 h, Jeen RS Botkh RAHTee etid g ¥9 $5¥8 20655 DD 06 763 D grrren 45°
2080h0 30° &g S'eren MDD hy ¢ hy =
1) 1:43 (@) V311
3 1:3 4 3:1

41. Which of the following eannot be the probability of an event?
&3 808 IS’ 28 5603 B Sogrges A B2

1
m 3 @ o3
7
(3) 33% G

SPACE FOR ROUGH WORK /)&:508 ﬁsf‘é;ﬁ»
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42. If a card is selected at random from a deck of 52 cards, then the probability of getting a red
face card is

52 ?oé;&péboa o a8 é%; Hoé o:’xmse)«‘i)‘)éom 28 s"éé?m BOHT 98 B oo S0 S°6C.g 90808 Ko éoep";‘)éé

3 S
M 3 @ 13

2 1
@ 13 @ 3

43. Two dice are thrown together. The probability of getting the same number on both dice is

Both DL 288 EFGomdd. 763 S0greR a8 JoggRd rotre SogHgs

1 1
1 =

1 1
(S)

44. A box contains 3 blue, 2 white and 4 red balls. If a ball is drawn at random from the box,
what is the probability that it will not be a white ball?

28 bég;es"‘ 3 900, 2 Bewd) 5080500 4 B SorH 22080e0 ). &3 2 Mok OSreg) Dy SorT 2.8 2089 SV
98 Be0sY) 008 SPEDESEE Ko Sogrisge

1

O

(1) (2)

O

7
® 3 (4)

45. The mean of 12 numbers is 19. If 4 is subtracted from each number, then the new mean is
12 Sogrge drew 19. (bS] Sogg 208 4 5 &ddabre 30y 78 Sriew
(1 17 2) 23

@ 21 4 15

SPACE FOR ROUGH WORK /-)¢:508 @5&531»
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46. If the mean of the following data is k(> O], then the value of kis
&8 180 K);ﬁogao&r‘é ¢5eE20™E:00 G008 SKen (@908 Soggioo) k(> O) 008, k Devd

Marks k 4 k 8 3
VSV
Frequency k | 2k | 3k | 4k | 5k
iﬂ’és@béo
(1) 10 2 8
@ S (4)

47. If a data has 25 observations (arranged in ascending order), then which of the following
observations represents the median?

8" K008 0819 25 5680308 K176 50308”8808 TS iy 5880 ey HErd) Srdies?
(1) 12th (@ 13th
(3) 14th (4) 15th

48. If the mode and median of a frequency distribution are 5 and 10 respectively, then the

mean 18

28 ;3%3{)):)5 DeToesdBo0S? s 8ot b.)(,ﬁé?iéé&)en S5H 5 H08at0 10 @008, w3 908 meﬁémm
DD

(1) 75 2 105

@ 125 4) 25

49. Which of the following eannot be determined graphically?
&5 808 7S" BID vH wo DpBos Saw?

(1) Mean (2) Median
@oé;‘néﬁémo éoéﬁéﬁeéo

(3) Mode (4) None of these
2TRISE0 AR

50. If the mode of the data 2, 4,6,7, 5,6, 10,6, 7,2k+1,9,7, 13 is 7, then the value of k is
2,4,6,7,5,6,10,6,7,2k+1,9,7, 13 &=o¥o @oééwwoojém7 008, k dend

SPACE FOR ROUGH WORK /)&:508 @(;f‘é;fw
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SECTION—II : PHYSICS

51. 1 cal=
185%8 =
(1) 1000J (2) 27315J
(3) 80 J (4) 418 J

52. Which among the following behaves like heat store house for the earth?

g G5 PP OTETTTeIT 35805050

(1) Trees (2) Minerals
36 20830

(3) Factories (4) Oceans
Soyrroeed S0TBIS0TEEeD

53. Pick the correct match :
PBGHD BSIBIEY) 30k :

Substance Specific heat (J/kg-K)
mvg:m BB (F°/ & r.-3)
{a) Water (i) 483
B
(b) Glass (i) 4180
[~
{c) Iron (iii} 504
NSRS
(1) (@)= (@), (b)= (iii), (c) - (1) (2) (@)= () (b)= (i), ()~ (i)
@) (a)- (i) (B)~ (i), (o) (i} (4)  (a)= (i), (b) (i), (c) (i)

54. Formation of dew on the surface of a cold soft drink bottle kept in air is due to

OS® GodD &8 S By FAOHY ?oﬁn:.z btb(fgo EDTPTOL) SOBE500

(1) evaporation (2) melting
NS (&DegSD0
(3) condensation (4) freezing
A0 @gésao FAMAEA RN TS)

SPACE FOR ROUGH WORK /-¢:508 @sf‘é;ﬁ»
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55. The heat energy supplied to a system during melting is known as

BEIDH0 BoBISYE €& DN £905DAT0 &5 88

(1)  specific heat (2)
IR0

(3) latent heat of fusion (4)
(555D 1830

latent heat of vaporization
R PDD 1080
humidity

eslge‘_‘e

56. The device used to measure the specific heat of a substance is

2.8 éa"go cfmgbb%@gmm 805578 o HBESHD

(1) micrometer (2) spectrometer
DE e 2§ R0
(3) calorimeter (4) barometer
36°80eat S 08D
57. If iand r are the angles of incidence and refraction respectively, then i < r means the light
ray travels from
i 08050 7 00 $e8:3 Ba0 58555 Sleren DBADY 1< r @D 5208 850 WOTR0DHHB
(1) denser to rarer medium (2) rarer to denser medium
PO LIS 06 DBY ofreS5°A8 DBY 0I53°080 06 oSS
(3) throughout denser medium only (4) throughout rarer medium only
B oSS aessos® Suee B DY Aessos” SoeEh
58. The physical quantity which has no units, is
Edoreren 89 F°8E oo
(1) radius of curvature (2)  velocity of light
58 TgRegE0 5008 Dd0
(3) focal length (4) refractive index
U050 5883955 roesso
SPACE FOR ROUGH WORK /9&:508 ﬁsf‘é;ﬁ»
2022-S1/2-A [14]
157

.
@, collegedunias
India’s largest Student Review Platform

~



POLYCET OLD QUESTION PAPER

4
59. A rectangular tank of depth 2 m is full of water of refractive index —. When viewed from the

3
top, the bottom of the tank is seen at a depth of

4
2 0. S SRS a8 BY S8R &G, 3 58855 rosato Denss EDRD D3 Srore Jod &5B. 2 3D

008 BRI, EG erd g Do S
(1) 266m (2) 1'5m
3 1:33m (4 333m

60. When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved
in it is
o S"éOE) :.,25 0008 @@Qé&b&)@, &3 oL DY ?_I{)) éb& JDW 5&3@3@5&&87? &9:‘0?)@08. 828
2H020BoAJ B8aH

(1) refraction (2) reflection
5(8e35:5:800 SPGB0
(3) total internal reflection (4) dispersion
BOFToss Soedgo DESev0
61. If Aand Bare the speed of light in a medium and refractive index of that medium res pectively,
then
A 558010 B €0 I 2.8 ardsos’ 5708 B 580t & adso (ool $8e55% Heasren eond
(1) Ais low when Bis high (2) Ais high when Bis high
B Qé.)@_é, A 855 B Qé)@_é, A 80
(3) A is independent of B (4) None of these
B A e58565 2D oD

62. The refractive index of glass with respect to air is 2. The critical angle at their interface is
9 SBorT Teer HEeEa ooty $8e3i5d Hheaso 2 @and e Ardse 36 ot Seo 5 o8y 80

(1) 90° 2 60°
(3) 45° (4) 30°

63. The symbol | used to draw the ray diagrams indicates
8583 Jeren Robiéos® | 108y B BODHBB?

(1) concave lens (2) convex lens
HeTTsRE BEoB0 Bogrses 88080
(3) plano-concave lens (4) plane mirror
D880 HerseE Koo Jdoese (1663290

SPACE FOR ROUGH WORK /-¢:508 @sf‘é;ﬁ»
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64. If y and g are the object and image distances due to a convex lens respectively, then its

focal length is

Y 08w % 0 &8 K0g17578 88080 G3o0¥) 5% 208010 38N BITren 690008 &5 EeEo AR08y T°grgoes0

5 4

m @ <
3

@ 2 @ =

65. A lens bounded by two spherical surfaces curved inwards is

S50 DK H0R &) Both Serod ¥OR &35) %o

(1) double concave (2) double convex
635 Herrsed 635 80858

(3) plano-concave (4) plano-convex
D080 Hersey DO Hogrsey

66. A convex lens gives a virtual image when the object is placed on the principal axis
SETEOD RER0 HE S SOIDE, Hogrs™8 Eeago gy H&Dowrd) aNoB?
(1) at infinity
9508 $°808°
(2) at the centre of curvature
Si8ee oo $5¢

(3) beyond the centre of curvature

S Soiso esse

(4) between focal point and optic centre

TRab Hotod S8k &y Soio By

67. Which among the following pairs represents optically transparent and opaque media?

508 ﬁvtﬁdﬁfﬁfgé So8a%w &9@1:666635 OLTPIBReOTT KO 2308) éa“o(;en

(1) Water, glass (2) Water, ice
5K, e DK, B0

(3) Ice, clay (4) Clay, wood
3003, 0¥ éoeg 208 a‘»g, 38,

SPACE FOR ROUGH WORK /)&:508 ﬁsf‘é;ﬁ»

2022-81/2-A [16]

M collegedunia

~



POLYCET OLD QUESTION PAPER

68. If R; and R, are the radii of curvature, n is the refractive index and fis the focal length, then
the lens maker’s formula is given by
R, $08aiw R, oo S|8&° T, N 518855 roeaso Bt f TegrgoesBo 0008 Ee¥ $ar8 v o
1 1 1 1
=n-1)| —-— =n-2)| ———
W 7= )[Rl Rz} @ = )[Rl RQJ
1 1 1 1 1 1
) Leo-a(i-1) ) Lewea(-2)
( ) f Rl RQ ( ) Rl RQ
69. In case of myopic defect, the image is formed
7RG ) B508° H8Dowo Iy e
(1)  before the retina (2) after the retina
Be3a°8 B0 33 &ored
(3) on the retina (4) Does not form an image
Bedoe 9 B&Dowo B
70. The part of the human eye which helps the eye lens to change its focal length, is
%oe3 K)o‘asaoés 80e3 8280 &5 TETg0STRy BTENE H0S” BIPAHHE KA
(1) iris (2) ciliary muscle
082 208 Bocoren
(3) cornea (4) aqueous humour
5Byl JEBE (B850
71. The power of a lens is 2:5 D. Its focal length is
2.8 Seo%o 033.>§6©v;&>g50 25D, & meg"éoe‘éeﬁ;h)
(1) 10cm (2) 25cm
(3) 30 cm (4 40 cm
72. Bifocal lenses used to correct the defect of vision are called
D BHAG"TR) SODALEIE) B -TET50SE ESR) THEE?
(1) hypermetropia (2) presbyopia
é‘g(‘,ﬁgg} 1‘,58"560
(3) myopia (4) None of these
R WD 7
SPACE FOR ROUGH WORK /Oé_.zéﬁ)g @5&555.»
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73. Pick the correct answer from the following two statements :

808 Boch Ege 00d SBGHMH HITERH0 JoDE BaHod :

{a) In VIBGYOR, wavelength increases from violet to red.

VIBGYOR &° ééoﬁ%m &80 006 DD DSOS

{b) In VIBGYOR, refractive index increases from violet to red.

VIBGYOR &° 588555 Koeako &t 5006 JEr0% DHedos

(1) Only {a) is true (2) Only (b} is true
(a) So°E8 Deso (b) So°E830 deso

(3) Both {a)and (b)are true (4) Both {a)and (b} are false
(a) 558050 (b) Botre JezeS {a) 208050 (b) Boss® é‘ez,’)opé

74. The formation of the rainbow is due to the dispersion of sunlight by the
R855°08 1808 738 DFIL0 Botio HOB RO 5Ny AYEREOB

(1) dust particles (2) water droplets
GBo°9 SeTen He3 Docoden

(3) N, molecules (4) inert gas molecules
N, DBITPE0DHEND 23¢5a7°aI0 HBBATPERDHEN

75. 1f i) and i, are the angles of incidence and emergence respectively and A is the angle of
prism, then the angle of deviation is given by

] S80I iy o0 SHRVTP He8S §'ea0 HoBA1H AT Sleren B0 A 5§ %0 eod DD o

1) (qi+3)-24 @ (h+4)-A
3 Ali-i) 4 A(i+i,)

76. The quantity which has the unit ampere-second is

€50D0HB-BD SdIres0re Ko FPHE 0B

(1) electric current (2) electric potential
Dy o Deogd HBJYoDS

(3) electric charge (4) electromotive force
DEISTRBEBN DBETNOE OB
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77. A bulb is marked 100 W and 240 V. The resistance of the bulb is
28 oD 100 W 50801 240 V & &08. & weyy IS5
(1) 41668 (2) 2508
3 248 (4 5S76%

78. Electric fuse is used in household circuits for the purpose of

20638 Ko sy docired’ Hrsd oo éfdo

(1) measuring electric current (2) maintaining all appliances in series

D Tt SonEds o) HBETOR B3 Soprnod doseds

(3) preventing damages due to overloading (4) decreasing resistances of the bulbs

L58S°G 59 SOR ey MBS Dsgh wenye AFEroH SRoSES

79. Four resistors each of 2 & are connected in the form of four sides of a parallelogram. The
equivalent resistance between any two opposite corners is

&5"55663 2 Q Dend Ko Teord B o al 95508 eﬁeéaéo?bzso cBooéba“eni’b ghezeenr @;ﬁa%a"é_). S5
ok S5BBE Buree H0iy so $O G o

1y 1@ 2 2
B 4 4 8

80. Ohm’s law is applicable to
£ DAHITR) 1808 T7e38 NP0 Doy

(1) gaseous conductors (2) semiconductors
Q0 TOTZCED @ga":ﬁs*’en

(3) metallic conductors (4) light emitting diodes
S Trsren 85 Ae3of EBrEen

81. Resistance of a wire of length 0'5 m and area of cross-section 1 mm? is 1 Q. The resistivity
(in &-m) of the wire is

05 m &r¢d $8a%0 1 mm? D5 FTos0 EORD 8K B0 1 Q. & 8K DY IS0 (Q-m o)
(1) 2x107° 2 1073
3) 2x10° (4 10
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2022-S1/2-A [19] [P.T.0.

M collegedunia

~



POLYCET OLD QUESTION PAPER

82. The area of current-time graph gives

DS (@HIT0 — TR0 [P G DTOgH0 AWNIB

(1) potential difference (2)  specific resistance
2-8Yahd & DB BB
(3) electric power (4) electric charge

3)65355 @‘K)ngso

3)6635(3“3%;&1)

83. Two resistors of 3 & and 2 & are connected in series and a potential difference of 5V is
applied across them. The potential difference across 2 & resistor is

3 Q 08010 2 Q Do EORS Both A& grom @3 Dogrdo BV 77¢38 5 V 9-8RJahd Bmio Eevld Jz.
2 Q A8 Socd :bvﬁf\l)oi)eg B

(1)
(3)

2V @)
5V (4)

1V
30V

84. Of the two bulbs in a house, one glows brighter than the other. Which of the two has larger
resistance?

28 208S° Ko Both 2o’ abed HBGE TR ET7) WSTEI0BOTT JLHWHE. S Bodoeds® JKysH
D& Ko 20y

1 Brighter bu 2) Dim bu
ighter bulb im bulb

PSEI0SR05 ey DIEM &) weyy

(3) Both have same resistance 4

Bo&e3 83550 DSTHR

Brightness does not depends on resistance

5°B03¢H0 AEGHVD SETBIGBE

85. Pick the correct answer from the following two statements :
808 Both Ts°5e 08 BHEDH DITEEHHND JoDE Bahod :

{a)  Kirchhoff’s junction law is based on the conservation of charge.
8om 23050 DaH0 edTe Vg AOHITR) ©WRBoKM
{b)  Kirchhoff’s loop law is based on the conservation of energy.

8oy euve Aahisvo #§ Deésgese QoY) @R0IBoWR

(1) Only {a) is true (2)
{a) S5 dasdo

Only (b} is true

(b) S0 D20

(3) Both {a)and (b) are true 4)
(a) 328050 (b) Bokr e

Both {a) and (b} are false
{a) 208050 (b) Bosr® e‘_‘ééopé
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86. The electric power (in kWh) consumed in operating a 60 W bulb for 3 hours a day in a month

of 30 days is

60 W ariinso Ko wegy 2l Bere® 3 Kotren &BArRY, 30 Beren Ko 30S° DAE@THo exdlhy 5)66355 %8

(85 mrey Hotres”)
(1) 27 (2)
@ 8 (4)

54
36

87. On increasing the temperature, the resistance of copper and germanium respectively

&SP DBRIDE, o5 BBakw aééx)omo D& e SB[

(1) increases, decreases (2)

PB8HEB, SrHEod

(3) increases for both (4)
Booe38 DSorHE08

88. 3 volt x 4 coulomb =
3 Sseg x 4 ¥3eere08 =

(1) 12 watts (2)
12 306

(3) 12ohms (4)
12 &a

decreases, increases

&B1¢5008, BSOS

decreases for both
Bo&oe38 siheos

12 amperes
12 e30d0Hd

12 joules
12 &6

89. Three resistors of 1 &, 01 Qand 0-01 & are connected in series combination. Their equivalent

resistance is

1Q, 01 Q508010 0:01 Q Dewsden Ko B I8 red Bed Sogrdo Iarsd. a0ed PO I6%¢0

1) 111 2)
@ 201 (4)

128
218

90. The scientist who proposed that the metallic conductors contain large number of free

electrons is

ST TrseS’ ©fE 0ggS” Vg JOTHO &0eraHd HSEoDD TR

(1) Oersted (2)
es006R86
(V]
(8) Kirchhoff (4)
Soo

Ohm
8.5

Drude and Lorentz
(&E 208050 erBos
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SECTION—III : CHEMISTRY

91. Which of the following is not a chemical process?
BoB 7763 SRma® B85 PN B2

(1) Rusting of Iron (2) Changing water into water vapour
20 ETPIGEo B> DB B0

(3) Mixing metal acid and base (4) Baking a cake
35900 08000 FBBVD EeodHes 88 &8oh

92. What is the value of X in the following balanced equation?
&5 808 &og BIr0DH SE;S° X Devsd Jod?
YH, + O, — XH,O
1 4 @ 3
@ 2 4 1

93. If Qis the heat energy, determine the nature of the reaction in the following equation :
8ot BIgRGD BRRaDS $85S° O BRIB &3 ¥8 o, & S8y BE) VearHo de3?
2C,H, +70, = 4C0O, + 6H,0+ Q

(1) Exothermic (2)  Endothermic
GHAIE YT

(3) Both (1) and (2) (4) Can’t be determined
(1) 08050 (2) Botir® Be0BSH0

94. In the equation given below, 100 g of CaCO4 and 73 g of HCl are used to prepare 18 g of H,O.
If 300 g of CaCO, and 146 g of HCl are used, then how many grams of HyO is produced?

CaCO, + 2HCl — CaCl, + H,0 + CO,

2% BSED SARADIE 35S° 100 [rwe CaCO, 58a50 73 rive HCI D &563rRodS 18 [wbne
H,0 D8y, a.53¢ 300 griwve CaCO, $8ak0 146 [rawe HCL D ¢3R0S ) rrswe H,y0

foeso)e:om?
1) 54 @ 36
(3) 300 4 146
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95. Which of the following is/are used to detect acidic or basic nature of a solution?
28 [Edes0 g, ey S 58 SeaTaed) 08065 808 TAS” BAD SIETAYE2

(1) Phenolphthalein (2) Metals
RSN Shrsoen

(3)  Universal Indicator (4) All of these
8|8 B8 D5

96. Which of the following metal liberates H, gas on reaction with NaOH?
808 S’ ) S50 NaOH & 585508 H,, 77atodd Do $i30872
(1) Zn (2) Ca
(3) Mg (4) Na

97. Which of the following can’t be used as X in the equation given below?

Acid + X — Salt+ CO, + Water
D BHDED SES° D Sorgo X e &d@rRosSsn?

(1) Metal hydrogen carbonates (2)  Metal carbonates
& &S TPy & 83en

(3) Both (1) and (2) (4) Metal hydroxides
(1) S080%» (2) Botsr S TEHR

98. Tooth enamel is made up with

toerep &0% Dorrel D8 B EOR &otod?

(1) calcium hydroxide (2) calcium phosphate
s*&aiho E’“LC"“EQ@ s*dabo @vfoq)es
(3) calcium oxide (4) calcium carbonate
s*oo &85 se@ao 56°)Ied
e N, &

99. What is the pH of the salt formed from weak acid and strong base?
m@?ﬂé?_oé 53320 208050 WO TS H0od bég&é ©5£:300 G308 pH Densd Jod Goenod?
1 3 @ 9
@ 7 4 S
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100. Who among the following did not propose atomic model?

BoB 7°86° H857e H30FTR HAFB0IS T 5K?

(1) Planck (2)  Schrodinger
08 @edoesd

(3) Bohr (4) Sommerfeld
6 2808 O

101. Which of the following electromagnetic waves has highest velocity?

e B Do EORD DesgSecHaros oo B2

(1) Violet (2) Green
& Sold SRV,

(3) Red (4)  All have same velocity
QB ) 2.8 Do EORATV0EH

102. Which of the following quantum numbers gives information about orientation of orbital?

808 TS’ D 575000 Bog)y @Byery B8 BRcIH0 180D BOAHERB?

(1)  Principal quantum number (2)  Angular momentum quantum number
D5 5250800 Sogg 3010 5355 BK 5°g080 oy

(3) Magnetic quantum number (4) Spin quantum number
@050 40820 D0 ?0035 $°¢080 Doy

103. The electronic configuration of element ‘S’ is
S’ 93 Jare¥o 033352’9)0&;5 Dog0
(1) 1s?2s22p53s23p* 2) 1s?2s22p®3s23p°
(3) 1s22s%2p53523p2 (4) 1s%2s22p%3s23pl

104. The maximum number of electrons that can be accommodated in a subshell with angular
momentum quantum number [ is

1 S°Bah (585318 5°g0er0 Sog)g SRS &8 s KBGO Ay Doy GotSBNN?

(1) 2n? (@) 2(2A+1)

@ 2 @ (2A+1)
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105. Which among the following is a non-metal?

808 =AS° 570 180306 :

(1) Potassium (2) Chlorine
FrerR0Ho £°8

(3) Silicon (4) Sodium
BN a&abo

106. Which of the following periodic classifications is not based on the atomic weights of elements?

808 T°RS° faresee BT o $81S'E B8 surese $8580 282
(1) Dobereiner’s law of triads

2855 ¥ NELoBo

(2) Newlands law of octaves
é)"’é@"éoc%‘\) 38 Qa0

(3) Mendeleev periodic table
200605 €589 DY

(4) Modern periodic table
3608 3585 begé
107. An element with atomic number 14 has a valency of
14 $855e0 Doy EORD Hareso @nE 3oy
1 1 @ 2

3 4 (4)

108. What is the family name of VII A group elements?
VI A g070) 5070570 GIo¥) 56002 T7:300 JE3?

(1) Alkali earth metals (2) Alkali metals
£65988 o 58 SFen

(3) Chalcogens (4) Halogens
oS g TS ey
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109. Which type of bond is formed due to transfer of electrons between two dissimilar atoms?

Bodhy K I SE8Te0DO 565 Qe)Lse‘;S B7BG S0 5 850D 00650 fbéo)d.)é)o&?

(1)  Electrovalent bond (2)  Electrostatic bond
Qoé‘jm@oeﬁ 2050 ot DS 2060

(3) Ionic bond (4)  All of these
90I°E 0G0 E_)X)ﬁ)cl

110. Which of the following is correct regarding the melting points of ionic, polar covalent and
non-polar covalent compounds?

808 TRS” 0SS, ¢y HoGIEIK B e FOBIEIAD SETe Y, BAADD FpTre Hgs
D020gTR) VBT BIV0SIB 587
(1)  Polar covalent > ionic > non-polar covalent

&yd Ho@reesdoh > 9oty > Clay HodBreesdah

(2)  lonic > polar covalent > non-polar covalent

@0 > By Ho@TEAON > &S HoBIrEIAD

(3) Ionic > non-polar covalent > polar covalent

0L > ety Jo@Brwdoh > &y HDod@reesdoh

(4)  All have same melting point

o) a8 (5SS 30 8OR oeron

111. What is the hybridization in H,O molecule?

H, 0 e9ea03) Gaos 508855830 2872
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112. Which among the following theories explained both shape and strength of the bond in covalent
compounds?

Bo@rEaD SErge o, esgEes 50805 208 $5e K80 D580 Jegoso 82
(1)  Electronic theory of valency
Sody o dgrogo
(2) Valence Shell Electron Pair Repulsion theory
VSEPR E’oa@"oeéo
(3) Valence bond theory
Soﬁb 08 dTROBo
(4)  All of the above
:.zé')x)cldi)f’
113. Highest abundant metal in earth’s crust is
g0 Seeos edBsor oo &iro 82
(1) Al (2) Au
(3) N, (4) Fe
114. Which of the following is not a sulphide ore?
808 S 38)E e 5B 282

(1) Pyrolusite (2) Galena
28%euged RO

(3) Cinnabar (4) Copper iron pyrites
226 555 28D DB3D

115. Which of the following ores undergoes roasting?

D Y 83850S° 002

(1)  Carbonate ores (2) Oxide ores
S"S‘bf)es D) &93‘35 TS

(3) Sulphide ores (4) ATI of these
mg)& D) ;:3:)&)4

116. Which of the following metals liberates H, on reaction with steam but not with cold water?
$ged D38 BBy 0BG, Ded 288 BBg"08 H,y 300509 éocse DD Shro 82
(1) Pb (2) Na
(3) Fe (4 K
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117. The number of sigma (o) and pi (n) bonds in C,H, molecule is
CyH, oenns’ &od drmy (0) DB D (1) o5 Sogy

(1) 3 sigma and zero pi (2) 3 sigma and 2 pi
3 ?)n'*’& 20Bain T D 3 %n"& S0Bosw 2 2
(3) 2 sigma and 3 pi (4) 4 sigma and 1 pi
2 ?)n'”& 06aio 3 2 4%7\"’&53380533 12

118. Which of the following is not a conductor?
BoB 7S Doy TS0 528 B2

(1)  Graphite (2) Carbon nanotubes
ed 85O & Towren

(3) Diamond (4) All of these
Sieso D5

119. Which of the following is an unsaturated hydrocarbon?
808 T°RS° 50D TPE'S G 9D 2

(1) Butane (2) Butyne
(3) Isobutane (4) Cyclobutane

120. What does an oxidizing agent do?

es8y5°Beaen D BA0?

(1) It reduces other substance and itself undergoes oxidation
2888 bwc@*’o;@o o880 F080D 9D &s%éés’r&)g fablo ) ailo VY

(2) It reduces other substance and itself undergoes reduction
Eolile] DTEOD EaDH88£00 DoB0D €9 FoHESeTIS HSHBE a0

(3) It oxidizes other substance and itself undergoes oxidation
B8 D TOLE S0 3080 8D &8 88T HEHE N

(4) It oxidizes other substance and itself undergoes reduction

2888 K)t:s“%*’e);éo esgaéésao DoB0Y 99 EoHEserdE HHTEran
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